

1 of 1	1005512	09/25/2012
PAGE	CUST NO	INVOICE DATE

INVOICE NUMBER 1718 - 91009871

Pratt

(620) 672-1201

B HUTCHINSON OIL COMPANY

PO BOX 521

L DERBY

KS US

67037

o ATTN:

LEASE NAME

Hunley

LOCATION

COUNTY

В

Stafford

KS

S STATE

Т

JOB DESCRIPTION Cement-New Well Casing/Pi

1-20

JOB CONTACT

Hunley #1-20

јов #	EQUIPMENT #	PURCHASE	ORDER NO.		TERMS	DUE DATE
40515518	19905	je fosiona sa se se se se			Net - 30 days	10/25/2012
			QTY	U of	UNIT PRICE	INVOICE AMOUNT
For Service Dates:	09/22/2012 to 0	9/22/2012		М		
040515518						
040313310			16			
	nt-New Well Casing/Pi	09/22/2012			.27.	
Cement 5 1/2"Longs	tring				15 1.00 m	Man day garage
		Milit Whatele Life 50 T	75.00	<b>-</b>	0.75	731.25
A Serv Lite			75.00	EA	9.75 12.75	1,275.00
AA2 Cement		à	100.00 44.00	EA EA	2.78	1,275.00
Celloflake C-41P			19.00		3.00	57.00
Salt			454.00		0.38	170.2
Sait Cement Friction Redu	laar.		29.00		4.50	130.5
C-44	icer		94.00		3.86	363.0
-44 			47.00		5.63	264.3
Gilsonite			500.00		0.50	251.2
Super Flush II			500.00		1.15	573.7
'Latch Down Plug &	Baffle 5 1/2"" (Blu		1.00		300.00	300.
'Auto Fill Float Shoe			1.00		270.00	270.
'Turbolizer, 5 1/2""			6.00		82.50	495.
'5 1/2"" Basket (Blue			1.00		217.50	
'Unit Mileage Chg (P			45.00		3.19	143
Heavy Equipment Mil			90.00	MI	5.25	472.
"Proppant & Bulk Del			360.00	EA	1.20	432.
Depth Charge; 3001-	-	•	1.00	EA	1,619.99	1,619.
Blending & Mixing Se	rvice Charge		175.00	BAG	1.05	183.
Casing Swivel Rental		- Tel	1.00	EA	150.00	150.
Plug Container Util. C	Chg.	2	1.00	EA	187.50	187.
'Service Supervisor,			1.00	EA	131.25	131.
IOO SYS A	42 Cement A 5, guide shoe	dditives and	.024			
100 ans. "	= anide shot	e etc, 9 tikes	4 011		200	
centralizer	9 11.4	· Kar	0824.00		3.3	i Translati
		•	D'o.		a de la companya de l	
PLEASE REMIT	TO: SF	END OTHER CORRES	PONDENCE TO	);		
				- 4	SUB TOTAL	8,541.4
BASIC ENERGY	SERVICES, LP BA	ASIC ENERGY SERV	ICES, LP		TAX	287.

PO BOX 841903 DALLAS, TX 75284-1903

PO BOX 10460 MIDLAND, TX 79702

INVOICE TOTAL

8,829.00



### TREATMENT REPORT

	00			,													40.00			
Customer	insonC	011	Con	nDan		ease No			1			Da	te	7		7			-1	
Lease H	nley	1			/ W	Well # 1 - 20									0	2	0			-d
Field Order #	Station	P	att	- Ito	insc	15		Casino	9 1	Depti	3669F	Cou	unty ¿	5+	aff	or	d	St	ate an	sas
Type Job	N.WL	ono	ast	ring						Formation	)		272340000000		Legal I	Desc	ription	-11	LW	
PIP	E DATA		, PERF	ORAT	ring	NG DATA NT FILLID USED					TREATMENT RESUME									
Casing Size	Tubing Siz	ze S	Shots/Fi	t	25	Sac	Ac	M-Se	rul	-itefa	r 50	RAT	EF	PRES	SS		ISIP			
Depth 9 Fe	Depth	F	rom (	009	ato t	TS AF	3 5m	e Pad With	.59	8 Fluid	Max	38	Fri	cti	on P	ed	5 Min.	1,29	Def	oamel,
Volume Blo	Volume	F	rom	860	190B	lot. 10	Pa	Salt. 2	54	1str cell	Min	5 Lt	0,16	al. (	Silso	ONI	10 Min			
Max Press	Max Press	S F	rom		То	5.3L	6.7	Gala	5,49	56al./5	Avg	3601	J. F	T./	st.	_	15 Min		,	
Well Connecti	on Annulus V	ol. F	rom5	0590	TOA	dditio	onal	Aserv	Lit	etoPlu	HAR C	3050	icts)	an	dMo			s Presi	sure	05
Blug Depth	Packer De	epth F	rom		То			ush 87	BI	ol. Fres	Gas	olume					Total L	oad		
Customer Re	presentative	Je	ff	Bur	tre	Statio	n Mar	nager Do	avio	d Sco.	+	1	reater	Cla	areno	el	P.M.	e55i	ch	
Service Units	37,900	19,9	59	19.9	05	19,96	0	21,010									-			<u> </u>
Driver Names Mes		T. 1	1100	Hal		L	Yo	Ung	$\perp$									4 1		
Time P. /	Casing Pressure		oing ssure	Bbls	s. Pum	ped		Rate			- 1 N 2		5	Servi	ce Log					
8:30							Tr	vets	OV	ocatio	onan	d hol	d Si	at e	ty M	00	tin	9.	2 0	
1 2	Sterlin	g Dr	illin	9510	art.	tore	in A	utoFil	IIFI	oat Sho	e, 5h	0e ]	oint	W	ithL	ato	ch De	own	Batt	le Screi
	11000	llar	and	ato	tal	018		701111	nev	V 15.51	b./Ft	- 5/2	Ca	SIM	g.At	Sas	tet	Wa	511	Staller
	ontopo	tsh	oe J	oint.	A	TUVE	oli	zer W	105	install	edor	10011	915	#	1,2,4	t,6.	11	and	# 1	5,
1.30			-				Ca.	Sing IV	11/10	·II. Circ	vlate	-and	Kolo	ate	ror	7	110	Ur.	1	
2.45		2,5	00						- 1	Shutu	nwell.	Tres	50V	D.	est. (	1	Den	Wel		
2.50	300				70			5	+	Diart	res	h Wa	[6]	H	e-[	US	5 h.			
		. 5	The state of the s	-2	20	7	بلود	5		TIPIC	Dupe	hwat	USF	1 11		12 4 4		W		
	- 1	the same	W	)	35			75		Start		- Land		1	The state of the s	· Pri	1 14		an a d	
				4	$\frac{1}{2}$	-		5		Start		1								-
				-	<u>a</u>		,			Stope		1								dlines
					0					Pelea		/							Par	U IIIC
3:06	100				,		F	5.5		Start				*	/	1				
	100			3 7				5		Start										
3:20	800	gai .		8	37		5			DI.	down			10.			1.			
	1750									Pressi		2	1 -		ng er i					
aut i				,					100	Peleas	e Dres	ssure,	FI	oal	Sho	oe	held	1.		A SE
- , , , ,				7	- 5		4	3		A .	at a							1		. w -
*											UPP									-
4:00							4-		-	Tobaco	MPL	ete.								
		Hear 2			e or operation					Thank	You.	Clo	rem	ce.	Mitro	e, 9	Ste	ve		
1024	4 NE Hiv	vay 6	61 • F	2.O. E	Зох	8613	• PI	ratt, KS	S 67	′124-86	13 • (6	620) (	572-	120	)1 • F	ax	(620	672	2-53	83

# B BASIC MERGY SERVICES

10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

#### FIELD SERVICE TICKET

1718 06991 A

	PRESSURE	PUM	PING & WIRELINE	0-3	225-	11W		DATE	TICKET NO						
DATE OF JOB	2-12	С	DISTRICT Pratt, 1	Tans	as	NEW C	VELL	PROD IN	J MDW	CI	JSTOMER RDER NO.:				
CUSTOMER	utchi	15	on Oil Compan	y		LEASE Hunley WELL NO] - 20									
ADDRESS			un promeneve a finalis Serie de la finalista de la finalis			COUNTY Stafford STATE Tansas									
CITY STATE SEF							SERVICE CREW Messick M. Mattal: S. Young								
The second secon							JOB TYPE: C. N. W Longstring								
EQUIPMENT		IRS	EQUIPMENT#	HRS	EQL	IPMENT#	HRS	TRUCK CAL	LED 9.21	DATI	E AM TIM				
37,900 1								ARRIVED A	TJOB 9	21-12	AM 8	50			
19959 19905 1							a neets	START OPE	RATION 9	22-12		9			
		-		PART CON	United States	* Chorendant	RE IS A S	FINISH OPE	RATION q	22-17		5			
19960-21.01	0	1	er i de to ton bas i filo		OTAL S		DMINNS	RELEASED	9-2	2 (7)	AMD 4:0				
tiffs, replanido alla	TOWN MA	- Appl	a termes in the state of	BE INST	ECHAPION	DOLLER BEN		MILES FROM	M STATION T	O WELL					
CONTRACT CONDITIONS: (This contract must be signed before the job is commenced or merchandise is delivered).  The undersigned is authorized to execute this contract as an agent of the customer. As such, the undersigned agrees and acknowledges that this contract for services, materials products, and/or supplies includes all of and only those terms and conditions appearing on the front and back of this document. No additional or substitute terms and/or conditions shall become a part of this contract without the written consent of an officer of Basic Energy Services LP.  SIGNED:  (WELL OWNER, OPERATOR, CONTRACTOR OR AGENT)											s shall				
ITEM/PRICE REF. NO.	4	М	ATERIAL, EQUIPMENT	AND SER	IVICES USI	ED	UNIT	QUANTITY	UNIT PR	ICE	\$ AMOUN	Т			
CP106	ASer	VL	ite Cement		A PARTY		SIT	25	Alta France	\$	325	60			
CP 105	AAA		ment	AL THE STATE	Tite will be a		5/	100	200 3000 1	5	1,700	00			
CP 106	Moey	1 1	-ite Cement		7		SIT	50		\$	650	00			
60105	Celli	1911	re	144	the Property	to the state of the state of	6	44		-5	162	80			
CCIUS	G I+	ame		a tribe, and	LINE S		Lb	454	A STATE OF THE PARTY OF THE PAR	\$	76	00			
CC 113	Como	+	riction Reduce		radical Value	en en make de la marin de la decembra de la decembr	10	434		5	dd(	60			
CC 115	C.44		TICHON REGICE				16	au )	7 011-52	19	174	00			
CC 129	FLA-	300	2		Later was		16	47	/ market	7	352	10			
CC201	Gilso	nite					16	500	/	4	335	06			
and the same of the same			on Hames 12 12 feet							4		00			
CF607	Latch	Dou	na riva and hai	The !	5/211	Colored Statement	e9	1	Train activity	\$	400	00			
CF1251	Auto	FIL	IFloat Shoe,	51/2"	eponed at	abasa deer to be	eq	1	1 2 2 3 3	5	360	50			
CF 1651	Turb	oli	zer, 51/2"	- 140.4	e li beren	- de l'agent la les	eq.	6	100000	\$	660	00			
CF 1901	Bashe	t, c	56	1 1 1 1 1 1 1	A telegran	1811111234W	<b>e</b> q	1		\$	290	00			
CC155	Supe	rF	lush II	tve ii	PLANT NO.	a, oz. sis Dirifi.	Gal	500		\$	765	00			
	THE RESERVE	19 M				The second second second		AND THE RESERVE				The state of			
				MIR THE	e managele	September 1	A PARTY	int on	Migrap Light en						
CHF	EMICAL / AC	ID DA	TA:						SUB T	OTAL					
STIL			200.4		QED	VICE & EQUIPN	<b>MENIT</b>	0/ TAN	X ON \$		CONTRACTOR DE LA				
			A STATE OF THE PARTY OF THE PAR		DIFFERENCE OF THE PARTY OF THE	ERIALS	VILLIA!	TO THE CONTRACTOR	X ON \$	o artisti s Ness heli s	andrije serykarje. S servije alase	ATE OF			
			N 100 100 100 100 100 100 100 100 100 10					75.70	7	OTAL					
		yas s uja							The second	Variable					
								FF SEELS				district.			

THE ABOVE MATERIAL AND SERVICE

ORDERED BY CUSTOMER AND RECEIVED BY:

FIELD SERVICE ORDER NO.

REPRESENTATIVE

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)

SERVICE

## B) BASIC MERGY SERVICES

10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

#### FIELD SERVICE TICKET

1718 Object A

	PRESSURE PUM	IPING & WIRELINE	)-225	-11W		DATE	TICKET NO.6,9	91 A	Facebally Simple				
DATE OF JOB	2.12	DISTRICT Pratt. H	9n595	NEW WELL	NEW WELL PROD INJ WDW CUSTOMER ORDER NO.:								
CUSTOMER	utchins	son Oil Comp	any	LEASE HUNLEY WELL NO.1-20									
ADDRESS			raet estimate a Bultara et ra il r	COUNTY Stafford STATE Tansas									
CITY		STATE	SERVICE CR										
AUTHORIZED B	Y		JOB TYPE	CMW. Longstring									
EQUIPMENT	T# HRS	EQUIPMENT#	HRS E	QUIPMENT#	HRS	TRUCK CAL	LED	ATE AM 1	TIME				
The state of the s			<b>医性 模型的</b>	Man agration s		ARRIVED AT	JOB	AM PM	ten est				
	June Braha H	Manager a West Control			V0 84448	START OPE	RATION	AM PM					
			SOUND OF A THICK STA		Mary modes	FINISH OPERATION AM							
Manager Committee	ा । अनुस	ing wisselfine . No 3	DAN WILLIAM	Calabrida Sqf	in Mari	RELEASED	m en le sa, to also	AM PM	n 2005				
		grammar yang silah		2014	1888	MILES FROM	A STATION TO WE	LL Comment	BRIDGE STREET				
products, and/or su become a part of th	pplies includes all	execute this contract as an ag of and only those terms and count at the written consent of an office	of this do	cument. No addit		ns and/or condition	ons shall						
ITEM/PRICE REF. NO.		MATERIAL, EQUIPMENT A	ND SERVICES U	JSED	UNIT	QUANTITY	UNIT PRICE	\$ AMOU	TNL				
E 100	Pickup/	Mileage		en got medera dien. Geografie	Mi	45	VE SECTION OF SECTION	5 191	25				
EIO	B 11 Fm	Equipment Miles	age		mi	90	\$	630	00				
E [13	Bult D.	elivery	Tributan and the state of the s	272 T T T T T T T T T T T T T T T T T T	tm	360		5 574	00				
CEROLL	Cement	Pump: 3.00/Feet	T- 4 ma	Feet	hrs	4		+ 2160	ida				
CF 240	Blending			ICEI	SK	175	4	749	00				
CESOI	Casing		all term which is		Tob	1	produced the same	5 200	00				
CE 504	1	ntainer			Job	1	\$	250	00				
Teacher of the		undaray galan na sa	· BASHT FIRE	ES THE THINK		The state of	rivers of a tribs for the	Carlo San San San					
5003	Service	e Supervisor			hrs	8		175	00				
anista – sauto le ag	Company of the State of the Sta		and the same and	k		COUNTY OF							
				A Charles by Said A	2 23 50	2001-110-2		STATE STATE					
									1 7000				
						. Washington			2. 0 pr-\$5				
	e de recei							Annual State of State					
		E Carlotte	ne traccamantal		Man Poss			138/12/17					
				THE RESERVE TO SERVE THE	SILE DINE	- 505 (0.004)	Extraction of the	12 (21) 10 10 10 10 10 10 10 10 10 10 10 10 10	1778 2 339				
		The second second	vien ver la gallian		y exercise	di boni 201	about him will on						
			District State of the	POSTERNICA POSTERNICA POSTERNICA		2 12 12 12 13 13 13 13 13 13 13 13 13 13 13 13 13	SUB TOTA	-					
CHI	EMICAL / ACID D	ATA:		NED/405 2 50: 115	MENT	0/ <b>T</b>	DLS S	58,541	49				
	D 123-			SERVICE & EQUIF	MENT	NAME OF THE OWNER, WHEN	X ON \$	te feet tast suitage					
- <b>36</b>				, TETUNEO	4 TAC 12	701A	TOTA						
- 100 mm - 1		mad k					The strategy of the strategy o	r mager de la back for this					

REPRESENTATIVE 1 1000 P

THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY:

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)

SERVICE